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1. Solve	the	equation(9x−3) (2x+5)=

(i) 6
5 (ii) 10

9 (iii) 10
7 (iv) 8

7 (v) 6
7

2. Solve	the	equation(5x+2) 5=

(i) 1 (ii) 3
5 (iii) 3

7 (iv) 1
5

3. Solve	the	equation(−5x) (−6)=

(i) 6
5 (ii) 4

3 (iii) 4
5 (iv) 8

5 (v) 8
7

4. Solve	the	equation(−2x+43)
3
2=

(i) ( -14 ) (ii) ( -114 ) (iii) ( -110 ) (iv) 1
12 (v) ( -112 )

5. Solve	the	equation(85
x−94) (54

x−8)=

(i) ( -1137 ) (ii) ( -1157 ) (iii) ( -493 ) (iv) ( -1177 ) (v) ( -835 )

6. Solve	the	equation(8x+5) (−3)=

(i) -4 (ii) 0 (iii) 2 (iv) -1 (v) -2

7. The	R.H.S	of	the	equation is(−7x−3) 0=

(i) (−2) (ii) 0 (iii) 2 (iv) (−7x−3) (v) (−1)

8. The	R.H.S	of	the	equation is(−7x−6) (−x−9)=

(i) (−x−9) (ii) (−2x−9) (iii) (−x−11) (iv) (−7x−6) (v) (−x−6)

9. The	L.H.S	of	the	equation is(−2x+5) 3=

(i) (−2x+5) (ii) (−2x+3) (iii) 3 (iv) (−3x+5) (v) (−2x+7)

10. The	R.H.S	of	the	equation is(5x+8) 6x=

(i) 3x (ii) 9x (iii) 5x (iv) 6x (v) (5x+8)

11. Solve	the	equation(x+1) 0=

(i) 1 (ii) -2 (iii) 0 (iv) -3 (v) -1



12. The	R.H.S	of	the	equation isx (−2)=

(i) x (ii) 1 (iii) (−5) (iv) (−2) (v) (−3)

13. Solve	the	equation(−32
x−6) 0=

(i) -1 (ii) -3 (iii) -7 (iv) -4 (v) -5

14. Solve	the	equation(2x+7) (−8x−9)=

(i) -2 (ii) ( -85 ) (iii) ( -65 ) (iv) ( -107 )

15. Solve	the	equation(x−9) 0=

(i) 8 (ii) 7 (iii) 10 (iv) 9 (v) 11

16. The	L.H.S	of	the	equation is(−5x−2) (4x+8)=

(i) (−5x) (ii) (−6x−2) (iii) (−5x−5) (iv) (4x+8) (v) (−5x−2)

17. The	L.H.S	of	the	equation is(−6x+5) (−4x−9)=

(i) (−6x+2) (ii) (−6x+7) (iii) (−4x−9) (iv) (−7x+5) (v) (−6x+5)

18. Solve	the	equation(−x−4) 0=

(i) -2 (ii) -6 (iii) -5 (iv) -4 (v) -3

19. Solve	the	equation(−7x+52) (43
x+98)=

(i) 31
200 (ii) 33

202 (iii) 33
200 (iv) 1

6 (v) 7
40

20. The	L.H.S	of	the	equation is(−x−9) 2=

(i) (−x−11) (ii) (−2x−9) (iii) 2 (iv) (−x−9) (v) (−x−6)

21. Solve	the	equation(2x−1) 0=

(i) 1
4 (ii) ( -12 ) (iii) 1

2 (iv) 1 (v) 3
2

22. Solve	the	equation(−52
x−72) 0=

(i) ( -97 ) (ii) ( -53 ) (iii) -1 (iv) ( -75 ) (v) ( -95 )

23. The	R.H.S	of	the	equation is(9x+7) 0=

(i) (−3) (ii) 0 (iii) (−1) (iv) 3 (v) (9x+7)

24. Solve	the	equation(−95
x−34) (−75)=

(i) 13
36 (ii) 5

12 (iii) 13
38 (iv) 11

36 (v) 13
34



25. The	L.H.S	of	the	equation is(x+3) 0=

(i) 0 (ii) (x+1) (iii) (x+3) (iv) 3 (v) (x+6)
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